


Решаем устно:
16200+800=      
700+14300=
8400+1600=                  
4800+500=
(600+800):2=                 
(2200-400):9=
(4000+2400):8=             
(10000-1900):9=



Решаем устно:
16200+800=17000      
700+14300=15000
8400+1600=10000                  
4800+500=5300
(600+800):2=700                 
(2200-400):9=200
(4000+2400):8= 800            
(10000-1900):9=900





252:28              
420:28              
2856:28           
10 332:28



252:28-1          
420:28-2            
2856:28-3
10332:28-3



Тема урока:

«Письменное деление на 
двузначное число. 

Закрепление» 



Цели урока:

•закрепить и  использовать 
изученный алгоритм при 
делении на двузначное 

число. 



Домашнее задание
стр.60 №231, №228.   


